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vj- Rewrite the sentences

7+7+7+7+7=35 Multiplication 5 X7=35

9+9=18 II\/IuItipIicatic:m> 72X 9=18

lné 3IX 6=18 . Addition:> 6+6+6=18
Kk 4X4=16 AN 4+4+4+4=16




'4/E8 | <4/B8  94/E8 . q/E8
4/E8 | <4/B8 < 49/E8 . 9/E8
4/ER | 4/E8 94/E8 . <94/E8

4x3 =34+3+3+3 =12
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3X4 =4+4+4 =12
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— Look at the picture and fill in the blanks:
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! Look at the picture and fil in the blanks:
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1(4)(2)sare(') (2) (4)s ae(8)

r.

(d Addition: 2+2+2+2=8 Addition: 4+4=8
Tlp“Caﬂon 4X2=8 Multiplication: 2X4=8
(q_ ‘Ihf

i 4]x[2]=[2] x[4 i




L

660 Look and Say.

There B a :
- Ther |t js easier to calculate v

_Addit  jf you change the places of the

(2+2 factors.
s "'MU|tipI|u:|uun s

|V|U|L||J||bC4|L|U||: ps '.
U 8X 2= 24+2+42+2+42+2+42+2=16 K2X8= 8+8=16 B

- : .;;- x X s ‘:.:»\ = : _ ;.;.; —rre— | = 3
(¥  times” () Repeat only once Ry
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4X3=12

2X3=6

3X4=12

3X2=6
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!i 4%3=12 3x4=12 | |
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g 2%3=6 3%2=6
' 2% 4=8 4%2=8
I

i Exchange factors’ position, the product stays the same.
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Challenge: m

Compare and fill in the blanks with

n 11 n

"< “>" or "=

ox8@8x9 4+4+4Q)3x4  4x5 @)3X5

5x4@1x4 6+6+6+6@6x5 AXA@AXA




